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AiEH - A - = [Z5] ISR - A - ERI [Z5H]
ISR - B - EH (57 5] ISR - B - EH L2=N
iR - C - EH (57 5] iR - C - EH 52=N
TR 39(39) 2 K — N 8:50 HEFH %K 39(39) A K — N REE 13:00
PNIZ3 INE = Medium PN7S INE = Medium
AHF—bF/T 4=y v a R 1.5C / 2C AB—F/T7 4=y 2R 1C/ 2C
F=880
NERE Ap=b =N B 1K 2A&AH & 7 1—x
No No K4 B4 gt B 4 S 157 N = N 157 N | = 155 D N GV N
1 1 953874 ki RIK N SEED 3 1:27.37 1:25.12 2:52.49
2 2 953875 fhA L R0 —E 4 1:29.80 1:29.77 2:59.57
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
HifkE =ai B LRz B ]
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EH%% - A - = (3 50] EH%% - A - = (3 50]
EH%% -B - EH (57 5] EH%% -B - EH L2=N
AiESE - C - EH (57 5] AiESE - C - EH (57 5]
TP % 39 (39) 2K — R 8:50 % 39 (39) 2K — R 13:00
PNIZ3 INE = Medium PN7S INE = Medium
AHF—bF/T 4=y v a R 1.5C / 2C AB—F/T7 4=y 2R 1C/ 2C
F=880
NERE Ap=b =N B - 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1L L I 5 Héﬁ Rl RA b
1 23 953398 #pE b I —E 1 1:21.54 1:21.20 2:42.74
2 20 937686 FHh KL = UL 6 1:22.07 1:21.06 2:43.13
3 21 929845 g A = A1 4 5 1:26.12 1:22.70 2:48.82
4 22 932061 = Ff = A154 6 1:27.39 1:26.38 2:53.77
5 26 947434 ER RZE N 44 20SC 5 1:28.01 1:30.36 2:58.37
6 25 929846 SFMH  SER N {274 2 1:34.41 1:30.17 3:04.58
727 931028 R FjEE = N 5 1:34.14 1:35.37 3:09.51
8 28 931027 #HkF ZSET gl NN 5 1:41.46 1:36.76 3:18.22
9 31 956995 &K EH gl {274 1 1:44.81 1:34.74 3:19.55
10 29 931026 ¢k H# gl NN 5 1:43.56 1:41.36 3:24.92
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 2
24 947713 FHE HEAE R [N 5
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No No KA B 4 BB 4 I I 5 I 3 s A GV
30 17 mH B0 ZEH Doing 1
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH  [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
gaRE =l B (et 2. ]
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a— ATy H— N [Z5H] a— ATy H— A EH (R B ]
AiEH - A - = [Z5] ISR - A - ERI [Z5H]
ISR - B - EH (57 5] ISR - B - EH L2=N
iR - C - EH (57 5] iR - C - EH 52=N
TR 39 (39) A A — IR 8:50 % 39 (39) 2 — IR 13:00
PNIZ3 INE = Medium PN7S INE = Medium
AHF—bF/T 4=y v a R 1.5C / 2C AB—bF/T 4=y v a R 1C/ 2C
F=880
NERE Ap=b =N B 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1L L I 5 H%E ] AA 2k
1 67 38063 {4k JTHE = IS %2 1:30.06 1:27.65 2:57.71
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
HifkE =ai B LRz B ]
07-03-2010 / IZB DX FERF— G8/ 1
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1A4H 2 K H
a—Rt v H— N [Z5H] a— ATy H— A EH (R B ]
AiEH - A - = [Z5] ISR - A - ERI (3 50]
ISR - B - EH (57 5] ISR - B - EH L2=N
iR - C - EH (57 5] iR - C - EH 52=N
TR 39 (39) 2K — R 8:50 % 39 (39) 2K — R 13:00
PNIZ3 INE = Medium PN7S INE = Medium
AHF—bF/T 4=y v a R 1.5C / 2C AB—bF/T 4=y v a R 1C/ 2C
F=880
NERE Ap=b =N B 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1L L I 5 Héf ] AA 2k
77 52421 H L BT N NS % 1:22.06 1:24.03 2:46.09
2 70 89592 BN AKET = AT T 1:23.56 1:23.38 2:46.94
3 71 86197 /NMIE A gl VAP 1:24.34 1:23.47 2:47.81
4 69 83632 ZHE T = H< ESC 1:25.20 1:24.65 2:49.85
5 73 30406 AR BT = AN 1:26.66 1:25.00 2:51.66
6 72 112299 O pHE gl TR 7TV 1:28.30 1:28.11 2:56.41
7 76 890669 EyH = VAR 1:32.17 1:35.39 3:07.56
8 75 933307 FiE AT N REA- 1:43.32 1:47.65 3:30.97
DID NOT START [1st RUN] 1
74 921312 H9IL ZnFE R REA-
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
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DATA PROCESSING by SE I KO TIMING by SET KO
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DID NOT START [2nd RUN] 0

DID NOT FINISH [2nd RUN] 0

DISQUALIFIED [2nd RUN] 0
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AiEH - A - EaI (3 50] ISR - A - ERI (3 50]
ISR - B - EH (57 B ] ISR - B - *H L2=N
iR - C - EH (57 B ] iR - C - *H 52=N
TR 39(39) 2 K — N 8:50 HEFH %K 39(39) A K — N REE 13:00
PNIZ3 INE = Medium PN7S INE = Medium
AHF—bF/T 4=y v a R 1.5C / 2C AB—F/T7 4=y 2R 1C/ 2C
F=880
JIEAE A%—b =N B 1K 2A&AH & 7 1—x
No No K4 B 4 B B 4 1 L 155 I S I N AV
1 78 935656 MH & N NN 1:27.33 1:25.77 2:53.10
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 3
79 54319 HJI| #EfLE 5N mhH A%
81 138793 B HMH = MOST
82 82325 JBE ET R Doing
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 1
80 111565 f@Q FEFE R HE A%
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DISQUALIFIED [2nd RUN] 0
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1AH 2 K H
a—At vy H— INE fR (%% %n] a—RAyH— A E [l B ]
AiEH - A - EaI (%550 ] AIEH - A - )l (%550 ]
AiE#H - B - *H [l B AiE#H - B - *H [l B2 ]
AiE# - C - *H [z B AiE# - C - *H [l B ]
TR 39 (39) 2K — R 8:50 % 39 (39) 22— R 13:00
PNIZ3 INE = Medium PN7S INE = Medium
AHF—bF/T 4=y v a R 1.5C / 2C AB—bF/T 4=y v a R 1C/ 2C
F=880
JIEAE AH=b -b EEE 1K 2A&AH & 7 1—x
No No K4 B4 gt B 4 B R OB R OB R RAU b
1 84 931022 &) %EH R 15 AR 3E 1 1:19.59 1:19.51 2:39.10
2 83 872671 M Hn N 15 AR 3E 2 1:20.65 1:20.73 2:41.38
3 85 923974 [T HZs N RS 1 1:29.45 1:30.12 2:59.57
4 92 939737 {FHiiE ER(4 = A 1 1:31.77 1:30.12 3:01.89
5 89 929263 KO XFHF EH 15 AR 3E 1 1:31.06 1:32.27 3:03.33
6 91 18 RJE EI N i A 1 1:40.34 1:42.83 3:23.17
DID NOT START [1st RUN] 3
86 920822 = Ee1 A 15 AR 3E 2
87 923991 4Rk (S = 15 AR 3E 2
93 12 #EE E o 20770 2
DID NOT FINISH [1st RUN] 2
88 872635 &1 xRk A 15 AR 3E 2
90 891909 JNpE =Mt R —'F
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No No K4 B4 gt B 4 S 157 N = 157 N | = 155 D N GV N
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
HifkE =ai B LRz B ]
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